HF BIERDFEE
KDEHE A L7 X 0o,

@

®

J

3x X5y

(=6x) x (=9y)

(—8y) x (—6x")

(—2x)°

6xy x (—3y)?

— (6x)*x 4y

@

@

2ax (=17b)

2a*x (—3a)

5x?x (—17x°)

— (9)?

3ax (—5b)?

(—8x)*x (—4x)

BIRELE - B OEXST D> O0— R MNE [BHDYU R THRE  https://www.okadori.net

©HHDYRUI



KXV2 B1EH & ZED
B BIERDEE

J

. ROFEZ L3,

3x X5y
=3><5><x><y

= 15xy

® (—6x)x(—9)
=(-6)x(—9) xxXxy
= b4xy

® (—-8y)x(—6x")
=(—8) x (=6) xyxx’

= 48x%

@ (-2x)°
=(—-2x) x (—2x)
=(-2)x (-2) xxXx
= 4x*

@ 6xyx (-3y)?
=6xy X (—3y) X (—3y)

=6x (=3) X (=3) XxyxyXy

= 54x)°

@ - (6x)*x4y
= (=1) X6x X 6x X 4y

=(_1)X6X6X4><x><x><y

= — 144x%

BIRELE - B OEXST D> O0— R MNE [BHDYU R THRE  https://www.okadori.net

@ 2ax (-7b)
=2X (—=7)Xaxbhb
= — 14ab

@ 2a*x (—3a)
=2%X (—3) xXda’Xa
= —64d°

® b5x*x (—7x
=5X (=7) Xx*xx*
= — 35x°

— (9y)?
=(—=1) X9y x9y
=(=1)X9x9xyxy
= —81°

3ax (—5b)*
=3ax (—5b) X (—5b)
=3x (—=5)x (—=5)Xaxbxb
=75ab’

@ (—8x)°%x (—4x)
= (—8x) X (—8x) x (—4x)
=(-8) X (—8) X (—4)xxXxXx
= — 256x°

©HHDYRUI



